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3 ogkel 29
el e 2 EER=E)
SA - BB C9I(B) - NIRAY - BES ol ko o 8 o HIRS2
OHK TH & 1t 8,591,404 7,945,249 646, 155
= 69,316 69,553 N237
z 2,151,000 2,151,000 0
< 931,968 929,134 2,834
= 5,439,120 4,795,562 643,558
g 24 138,201 138,991 AT
= 3,592 3,829 2237
< 2,885 3,051 166
= 131,724 132, 111 N387
olgrel 2e| 138,201 138,991 270
= 3,592 3,829 2237
< 2,885 3,051 166
= 131,724 132,111 2387
plEtel ns 2| 7,201 7,991 AT
= 2,587 2,824 N237
< 1,385 1,551 2166
= 3,229 3,616 A387
301 LEIEEZ 5,118 5,908 270
= 1,536 1,773 237
[ 1,075 1,241 2166
= 2,507 2,844 N387
11 BARHIXES 5,118 5,908 AT0
OXzogt =4 270,000« 10 2,700 3,490 AT70
= 810 1,047 N237
< 567 733 2166
= 1,323 1,710 N387
OiHl=2 4N 92,201 92,201 0
308 XXM SO0IH 89,001 73,150 15,851
2 obl2sdN2Ed 89,001 73,150 15,851
OXgYAXE & IsEAXH
89,001,000 = 1JHCH 89,001 73,150 15,851
403 AXIEtMSAH=01d 3,200 19,051 15,851
B Bl=2sdXNAN2ExX 3,200 19,051 A15,851
OXNgYAXE & HHIZRUH2EXE
,200,00024*1JH CH 3,200 19,051 A15,851
Mol & =7 5= 235t 5,717,189 5,493,400 223,789
= 2,151,000 2,151,000 0
[ 874,960 874,960 0
= 2,691,229 2,467,440 223,789
Ht=2 K12 5,717,189 5,493,400 223,789
= 2,151,000 2,151,000 0
< 874,960 874,960 0
s 2,691,229 2,467,440 223,789
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=t HH=s2AX2 (EEEE))
SA - B O9I(SH) - MRALY - BAS o vy JERY RS2
A AHTIH HEHXIRZ XIS 100,000 55,000 45,000
302 Ol E24a= 100,000 55,000 45,000
02 QIO A =R ES 24 = 100,000 55,000 45,000
OAMSMAHIO THHXIR =
500,000 *200H 100,000 55,000 45,000
Mo F AN S=S=+7 171,359 171,359
401 AIEHIZL R OHYI 171,359 171,359
01 AlZHI 170,500 170,500
OHHF AL o L S+
37,625,000 *44 2= 150,500 0 150,500
Q20244 2FgWH(MFXI) MHHAZINL X+
A2l AL 5,000,000& 43l 20,000 0 20,000
03 Al = THHI 859 0 859
OMHFAFAIE oY & S+
110,500,000 %0.777% 859 0 859
SIAK SUAB XS EHIAY DI=2EX 24 7,430 0 7,430
401 AIEHIZL 2 0HYI 7,430 0 7,430
01 A&l 7,430 0 7,430
O=ZA SURAEXS ZHIAIY DI2SK
24 7,430,000 12 X 7,430 0 7,430
Kol & THEH Ol 227,730 221,667 6,063
s 8,950 8,950 0
s 218,780 212,717 6,063
THEE ol 227,730 221,667 6,063
< 8,950 8,950 0
[ias 218,780 212,717 6,063
THoll HME =X 7 6,063 0 6,063
206 =4l 6,063 0 6,063
01 M=4l 6,063 0 6,063
O==XMH(0tH S 58)
30,000 170K 5,100 0 5,100
O=LEZR(MXIZHIE S 65)
48, 1503 200K 963 0 963
Metatst 23 97,236 56,307 40,929
= 2,500 2,500 0
< 4,000 1,000 3,000
[ias 90,736 52,807 37,929
THtarg 2tel 34,768 6,768 28,000
EASHTH HloH==8! XIALY 28,000 0 28,000
301 LENEZ 28,000 0 28,000
14 JIEt2 a3 28,000 0 28,000
NSO =BIXIE ALY
5,000,000 724 %80% 28,000 0 28,000
ARRI TR Ol 53,622 40,693 12,929




2A:

3 jeae 29
Rl AR THE Ol EER=E)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
= 2,500 2,500 0
< 4,000 1,000 3,000
o 47 122 37,19 9,929
OHMFHE FIIMoH Ol At 2,929 0 2,929
308 XXM SOIA 2,929 0 2,929
07 AX 2L FE= 2,929 0 2,929
OEFAANE MIIMGH I A
44,3783 66t 2,929 0 2,929
AHHQIZ OIS HIAASIEX &X 10,000 0 10,000
< 3,000 0 3,000
z 7,000 0 7,000
401 AlEBIYL S THYI 10,000 0 10,000
< 3,000 0 3,000
= 7,000 0 7,000
01 Al&HI 10,000 0 10,000
Ot IS HIYASIEX EX At
10,000,000 *17H 2 10,000 0 10,000
(= 3,000 0 3,000
s 7,000 0 7,000
HRES(QAHE L) 776,164 400,000 376,164
FSPNES 376,164 0 376,164
grets DIt 376,164 0 376,164
802 Btet=JIEt 376, 164 0 376, 164
01 2DEXIPHEZ 267,450 0 267,450
O2023d 219 WS2HAY 2 3MAIY &
A 263,834,000 263,884 0 263,884
02023 =2=0] HAAIE &X| 2 7IHAIY Ol
K24 ol 3,566,000 3,566 3,566
02 Al - SHIEZ=ZBHEZ 108,714 108,714
020233 212 WSSIAY 2 7HAIE &
A 106,845,000 106,845 0 106,845
020238 S=0| HMAIZEX] 2 14HALY Ol
AhedaHol 1,869,000 1,869 0 1,869




